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States!!!

FIrorionss

¢ The rule states that if the sum of all the ordinates
taken at midpoints of each division multiplied by
the length of the base line having the ordinates
(9 divided by number of equal parts)..
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Mid Ordinate Rule

rrorions

Solution

5.00

Fig. P.7.1
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Mid Ordinate Rule

s Let 01,02,03,04.......... On= ordinates at equal
intervals

¢ I=length of base line
¢ d= common distance between ordinates

* h1,h2,........ hn=mid-ordinates
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rIrorionss



Mid Ordinate Rule

rIrorionss

Area of plot = h1*d+h2*d+...... +hn*d

=d (h1+h2+... +hq)

Area = common distance* sum of mid-ordinates
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Assessment

rrorions

* What are the methods of determining

dread
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Problem

LLTTITITION S

The following offsets were taken from a chain line to an
irregular boundary line at an interval of 10 m:

0, 2.50, 3.50, 5.00, 4.60, 3.20, 0 m

Compute the area between the chain line, the irregular
boundary line and the end of offsets by:

a) mid ordinate rule
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Mid-ordinate rule:

10/18/2022

h1=0+250 =125m

2
h=250+350 =300m

2
h3=350+5.00 =425m

2
h4=5.00+460 =480m

2
h5=4.60+320 =390m

2

he=320+0 =160m

2

Problem

Solution

Required area= 10(1.25+3.00+4.25+3.90+1.60)

Fig. P.7.1

=10*18.80=188 m2
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rIrorionss

See You at Next Class!!!!
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